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Problem 1:

One of the parameters (current or voltage) is missing in the following resistors. Indicate the

direction or polarity of the missing parameter in each figure and calculate its value in the table.
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Problem 2:
In the circuit below, boxes contain electric elements. State T for true, and F for False for the

statements in the table. (We note A+B means A is in series with B; and A//B means A is in

parallel with B.
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Current | Voltage
a 5V
b 2A
c 2V
d 3A
e 5mV
f 2mA

Statement

1 | A+B

2 c//E

3 D//F

4 (c//E)+(F//D)

5 |c//B+D

6 | A+(C//E+D//F)//B
7 A+C//E+(D//F//B)
8 | A+(C//E+D/[F)//B
9 | A+C//E+D//F//B
10 | (c//E+D/[F)//B




Problem 3:

Consider the circuit shown below with electrical elements represented as boxes with voltages
shown across the terminals of each. Determine the value of the voltages V1,V2 and the current I.

Problem 4:

Use current dividers to find 11 and 12 in the circuit shown below:
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Problem 5:

Use a series of source transformations to find the current | in the circuit shown below.
(Redraw all steps of source transformations)
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Problem 6:
2V
Determine I, Vy and Vy in the circuit shown? 10 '
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Put your answers here
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Problem 7:
Reduce the circuit on the left to the circuit on the right to calculate Vs(t) and I(t) for t = Os, 3s and
5s. Put the answers in the table shown. The time t is in seconds
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Problem 8:

Determine the voltage V in the circuit using direct method and the power absorbed by the
independent voltage source?
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